Mediation Exercises
From the file healthy eating mediation, test the model predicting behaviour (candyt1) from attitudes (mean_att) indirectly via intentions (mean_bi) with age and gender also included as control variables.

(a) Find the #s used to create the following tables (you do not need to prep the full tables)

Table 1 of means, SD, intercorrelations
Table 2 predicting the dv, behaviour, from age gender and attitudes in B1 and intentions in B2
(b) draft the write-up by adapting the following text:

Overview

Table 1 reports the uncentred means, standard deviations, and zero-order correlations.  

Two regression analyses were conducted to test the relationship of attitudes to intentions (the proposed mediator), over and above age and gender, and the relationship of attitudes to behaviour directly and indirectly via intentions.

Predicting intentions

Age, gender and attitudes accounted for significant variance in the intentions, F=,p=,R2=.  Among the control variables, [] effects were observed for xy (beta=,p=)…. Over and above these variables, however, the iv uniquely predicted the mediator, beta=, p=.

Predicting behaviour

A hierarchical regression analysis was then conducted with the IV and the control variables in Block 1, and the mediator entered in Block 2.  This analysis is reported in Table 2.

In Block 1, significant variance was accounted for, F=,p=,R2ch=.  As predicted, over and above the control variables, the iv was uniquely associated with the dvs, beta=, p=.  When the mediator was entered in Block 2, the variance accounted for increased, F=,p=, R2ch=. [May or may not increase.]  As predicted, the mediator predicted the dv, beta=, p=.  Moreover, when the mediator was controlled, the direct effect of the iv decreased from beta=.66, p= in Block 1 to beta=.52, p<.001.  A Sobel test revealed that the indirect path of Sp2 to Sp4 via Sp3 was significant, z=-2.48, p=.013.
The final Sobel z you get for attitudes to behaviour via intentions should be -2.48, p=.013.  If you have trouble, try the hints.sps file….
(c) Try running an analysis (and drafting the results) using the full tpb model (mean_att, mean_pc, mean_sn) to predict intentions and indirectly via intentions behaviour.

